Oliver Twist is born in a workhouse in 1830s England.Fagin sends Oliver to assist Sikes in a
burglary.When the undertaker's other apprentice, Noah Claypole, makes disparaging comments about
Oliver's mother, Oliver attacks him and incurs the Sowerberrys' wrath. After the other boys bully Oliver
into asking for more gruel at the end of a meal, Mr. Bumble, the parish beadle, offers five pounds to
anyone who will take the boy away from the workhouse.Oliver narrowly escapes being apprenticed to a
brutish chimney sweep and is eventually apprenticed to a local undertaker, Mr. Sowerberry.Mr.
Brownlow, with whom the Maylies have reunited Oliver, confronts Monks and wrings the truth about
Oliver's parentage from him.When the Maylies come to London, Nancy meets secretly with Rose and
informs her of Fagin's designs, but a member of Fagin's gang overhears the conversation.When word of
Nancy's disclosure reaches Sikes, he brutally murders Nancy and flees London.Their father, Mr. Leeford,

was unhappily married to a wealthy woman and had an affair with Oliver's mother, Agnes Fleming.
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